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2/ VX € E ,VAER : f(AX) = Af (X)
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VX,YEE,VA,BER : fQX+BY) = Af(X) + BF(Y)
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(x,9) = f((x, ) = flx,y) = (2x,x +y)
o Gkl g2
AER sX = (x1,y1),Y = (x2,¥,) € E ST
fX+Y) = f((x1,y1) + (x2,¥2))
fla +x,y1 +y2) = (20 +x2) , (61 +x2) + (1 +32))

= (2x1,x1+y1) = 2x3, %, +y,)
=fX)+f(Y)

FOX) = F(A(x1,¥0) = F(Axy, Ay:) = A%, , Axy + Ayy)

=A2x1,x; +y1) = Af(X)
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fQAX +BY) = Af(X) + Bf(Y)

= Af(X) + Bf(Y)
= 20y + B0r = Of
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AX+BY = Af(X) + BF(Y) € Imf 0l 2 A, L ER ¢ X,Y € Imf oS
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AX +BY = f(AX") + f(BY')
= f(AX' 4+ BY") € Imf
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rgf = dim(Imf)
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f:R - R

(x,y,z,t)» f(x,y,z,t) =(x—2y ,3z—t,0)

lgdn 3a> 9 Imf « Kerf a9l
Kerf3X=f(x,y,z,t)=0
= (x—-2y,3z—t,0)=(0,0,0)

x—2y=0 1 1
=> {3z—t=0 = {PT3*¥ = X=<x,zx,z,32>
0=0 t=3z

1
= X= (x,zx,0,0) +(0,0,z,32)

1
=x(1,§,0,0)+z(0,0,1,3)
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dimKerf = 2 dias (s b 51y, Uy 2 Wedl R o0 332! (slaadl sbaall o Kerf 4 g
Imf3Y=>3X=(x,y,z,t) EE: Y =f(X)

>Y=(x-2y,3z-t,0)=x(1,00)+y(-2,0,0)+2(0,3,0)+¢t(0,-1,0)
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1/ owef © Kerf = {05} © dim(Kerf) =0
2/ »ef e Imf =F < dim(Imf) = dimF
0l I
f(X)=0g = f(05) 0MNX € Kerf 9 soloef O uoys = /1
Ll F(X) = F(Y) ¢e= X, Y €EEsKerf = {05} 0l uopiss &=
fR=fX)=fX) - f{¥) =0
= f(X-Y) =0p
= X —Y € Kerf = {0}
= X—-Y =0
= X=Y
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dimKerf + dimImf = dimE
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fR - R
(x,y,2)» f(x,y,2z) = (2x,3x +y,2x — 32)
G f ol pan
Kerf = {0} o o of 4o 4l dimR’ < +005E = F =R 0l Ly
Kerf3X=(x,y,z)=fX)=0
= f(x,y,z)=0
= (2x,3x +y,2x —3z) = (0,0,0)

2x =0 x=0
= {3x+y=0 = jy=0 = X=(0,0,0)
2x—3z=0 z=0



